Year 3: Week 1, Day 1
Numbers on lines

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders.

Round decimals to the nearest whole, tenth and hundredth.

They come from our PowerPoint slides. — e mm e

2 2 N2 0 D30 AR OS2 6 7R 0 8 2 OB 3

2. Tackle the questions on the Practice Sheet. J—
There might be a choice of either Mild (easier) or
Hot (harder)!
Check the answers.
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3. Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?

4. Have | mastered the topic? A few questions to ety e vl of e n e folwing e

(a) 3.407
Check your understanding. o
(d) 5.104

Fold the page to hide the answers! o s

How many times must Dan multiply 0.048 by 10 to get 48,000?

What number is one hundred times smaller than 0.4?
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Learning Reminders

Place 3-digit numbers on a number line.

50 is here because it
is halfway between

Knowing the position of
all the 10s numbers
helps us to place other
2-digit numbers on the
line.

o4

10

-4

70 4 80 90

34 is just a bit less

than halfway
between 30 and 40.

72 is a small
amount greater
than 70...
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Learning Reminders

Place 3-digit numbers on a number line.

And the same knowledge helps
us to place other 3-digit numbers
between multiples of 100...

l v

1 1
400 410 1 420
416

'

1
430

1440
437

1
450

1
460

'

T
470

4&(‘ 460

482

-

500

Estimate what

numbers are the blank

arrows pointing at...
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Practice Sheet Mild
Numbers on lines

Mark the numbers on the number line where you think they should go.
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Use three of these digits to make a number which belongs between 900 and 1000 and place it on the line:
3.5, 7, 9. Repeat for as many numbers as you can.

® ¥ @ VvV 1H o
® ¥ @€ V H o & ¥ & V H o & ¥ & VvV =m o
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Practice Sheet Hot
Numbers on lines

Mark the 100s intervals on the number line.
Write the numbers on the number line where you think they should go.

o
|
>
®
»*
[ 2
[
|
>
®
*
®

® ¥ @€ V H o & ¥ & V H o & ¥ & VvV =m o

® ¥ @ VvV 1H o

Challenge

Roll three 0-9 dice. Use the digits to make 4 more different numbers to place on your line. Repeat.

® VvV 1m o
® VvV 1H o
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A Bit Stuck?
In-betweenies

Work in pairs

Things you will need:

- A set of 1 to 9 digit cards
- 0 to 100 landmarked lines
- Two coloured pencils

What to do:

Shuffle the cards and place face down. Take the top four.

Use them in any order that you like to make two 2-digit numbers. Use your coloured
pencil to mark these on the line, writing the numbers underneath the marks.

Your partner takes the next two cards and uses them in either order to make a
2-digit number. They use their coloured pencil to mark this number on the line.
Can they make a number which goes between your two numbers? If so they win
a point. If not, you win the point.

Play again on a new line, but your partner shuffles the cards and takes the
first four this time.

Keep playing, taking it in turns to take the first four cards.

| — | — |
40 50 60 | 70 8|O
37 e T

S-t-r-e-t-c-h:
Think about the best order to use your digit cards to make it difficult
for the other person to make a number in between your two numbers

on the line.

Learning outcomes:

+ | can place 2-digit numbers on a 0 to 100 landmarked line.

+ | am beginning to have an idea about whether numbers are close or far apart on the number line.
+ | am beginning to identify mystery numbers on O to 100 landmarked lines.
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Check your understanding:
Questions

Sketch a line 0-1000 and mark 500 on it.
Mark 350, 700 and 990 on the line.
How can you demonstrate that you have marked these accurately?

True or false

e Between any pair of next-door multiples of 100, there are always 98 whole numbers.
e The middle of a 500-1000 line is 800.
e There are ten numbers ending in 3 between 300 and 400.

e The digit 0 is used 18 times between 600 and 700.

Fold here to hide answers:

Check your understanding:
Answers

Sketch a line 0-1000 and mark 500 on it.

Mark 350, 700 and 990 on the line.

How can you demonstrate that you have marked these accurately?

350 is around a third of 1000, 700 almost three quarters and 990 is almost 1000; children’s markings
should reflect this.

True or false

e Between any pair of next-door multiples of 100, there are always 98 whole numbers. False, there are
99, for example between 200 and 300 the numbers 201 — 299 (99 numbers).

e The middle of a 500-1000 line is 800. False, it would be 750.

e There are ten numbers ending in 3 between 300 and 400.
True —303, 313, 323, 333, 343, 353, 363, 373, 383, 393. Some may miss 303.

e The digit 0 is used 18 times between 600 and 700. True, in the numbers 601 — 609 (9 times) and 610,
620 ... 690 (9 times).
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Year 3: Week 1, Day 2
3-digit numbers

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders.

Round decimals to the nearest whole, tenth and hundredth.

They come from our PowerPoint slides. — e mm e

2 2 N2 0 D30 AR OS2 6 7R 0 8 2 OB 3

2. Tackle the questions on the Practice Sheet. J—
There might be a choice of either Mild (easier) or
Hot (harder)!
Check the answers.
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3. Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?

4. Have | mastered the topic? A few questions to et e el
Check your understanding. b
Fold the page to hide the answers! o s

How many times must Dan multiply 0.048 by 10 to get 48,0007

What number is one hundred times smaller than 0.4?
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Learning Reminders

Partition and represent 3-digit numbers using place value cards.

’

Find the total of
the numbers.
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Learning Reminders

Partition and represent 3-digit numbers using place value cards.

What numbers
can you use to
make 639?

© Hamilton Trust



® H A & *x ¢ 6 H A & *x o O EH A & » o O HEH A o

Practice Sheet Mild
Place value practice

Use the following digits to make 3-digit numbers as instructed:

® H A @& *

A number with seven 100s. ( J

A number where the 10s digit is four. (

A number with a 1s digit <3. ( )

® B V @& ¥ & 6 H V & ¥ & o EH V o «»
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A number with more than six 10s. (

An even number between 200 and 300. (

® H A & »x o
¢ H V @& ¥ &

An odd number >800. ( )

Now order these numbers from smallest to largest:

(OO

Challenge

How many numbers are there between (but not including) 100 and 200 that
have a seven in them?
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Practice Sheet Hot
Place value practice

Use the following digits to make as many 3-digit numbers as you can.
Now order them all from smallest to largest.

e H A @& «*

Start using these digits: 1,5.7,0,9, 3

157, 150, 159...
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Challenge

How many numbers are there between (but not including) 100 and 200 that do
not have a seven in them?

A & x o 06 H A & *x o
vV @€ ¥ &8 6 1 VvV @ ¥
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Practice Sheet Answers
Place value practice (Mild)

eg. 739
eg. 243
eg. 492
eqg. 374 or 294
eg. 274
eg. 927

e H A @& «*

Challenge

There are 19 numbers:
Is digitis 7: 107, 117, 127, ..197 (10 numbers).
10s digitis 7: 170, 171, 172, ..179 [not counting 177 because it was in the list above,

9 numbers).

Place value practice (Hot)
eg. 103, 197,359, 301,571, 509, etc.

Challenge

There are 80 numbers between 100 and 200 without a seven in them.
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A Bit Stuck?
Make the number

Work in pairs

Things you will need:
+ 100s, 10s and 1s place value cards

What to do:

- Take it in turns to choose a number.

+ One person makes that number using place value cards.

« They then show the three cards in any order to their partner.
+ They must write the number and say it aloud.

- Do you agree?

* Repeat this, taking turns to make the number.

326 831 535 473 154

617 282 736 962

S-t-r-e-t-c-h:
Make the numbers 520 and 603 using place value cards.

Learning outcomes:
+ | can make 3-digit numbers using place value equipment (no zeros).
+ | am beginning to make 3-digit numbers with a 0 in the 10s or 1s place using place value equipment.
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Check your understanding:
Questions

Write numbers to make the sentences true:

a) 100 < D< 110
b) 304> J>302
c) 999>( ]>888

d) 0<101<( |

e) 459 <D<461

Write the value of the 5 digit in these numbers:

(i) 652
(i) 591
(iii) 905

Fold here to hide answers:

Check your understanding:
Answers

Write numbers to make the sentences true:

f) 100 < D< 110 Any number from 101 to 109.
g) 304>( ]>302303.

h) 999> ]>888 Any number from 889 to 998.
i) 0<101< D Any number 102 or greater.

j) 459<( <461 460.

Write the value of the 5 digit in these numbers:
(i) 652 50 (or 5 tens).
(ii) 591 500 (or 5 hundreds).

(iii) 905 5 (or 5 ones).
e The digit 0 is used 18 times between 600 and 700. True, in the numbers 601 — 609 (9

times) and 610, 620 ... 690 (9 times).
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Year 3: Week 1, Day 3
Adding mentally — in our heads!

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders.

Round decimals to the nearest whole, tenth and hundredth.

They come from our PowerPoint slides. — e mm e

2 21 22 23 24 25 26 27 28 29 3|

2. Tackle the questions on the Practice Sheet. J—
There might be a choice of either Mild (easier) or
Hot (harder)!
Check the answers.
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3. Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?

4. Have | mastered the topic? A few questions to et e el
Check your understanding. b
Fold the page to hide the answers! o s

How many times must Dan multiply 0.048 by 10 to get 48,0007

What number is one hundred times smaller than 0.4?
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Learning Reminders

Adding three 2-digit numbers using different strategies.

43cm 18cm 25cm

‘ How could we find the total
length of these 3 ribbons?

2 40+20+10="? )

2 8+5+3=? D
: 70+16=? p)

Let’s try partitioning into
10s and 1s and putting
the larger numbers first.

© Hamilton Trust



Learning Reminders

Adding three 2-digit numbers using different strategies.

57¢cm 23cm

48cm

What about these
three ribbons?

Let’s try partitioning into
10s and 1s. Did you spot the
pair of 1s that make 10?

E 50+40+20="? )

E 8+7+3=? >
2 110+18="? >

© Hamilton Trust



Learning Reminders

Adding three 2-digit numbers using different strategies.

65 27 35 31 48

“~——

65, 35 and 21.
5+5=10to help us
add the 1s.

Are there three of these
numbers that would be
straightforward to add?
Which group of three
could be trickiest?

; 60+40+20="? )

48, 65 and 27 could
be trickier...
Let’s try partitioning.

E 8+7+5=? D
2 120+20=? >
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Practice Sheet Mild
Addition and subtraction practice

You have £1 pocket money to spend. Which two stickers can you buy? Find as many pairs as you can.
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Practice Sheet Hot
Addition and subtraction practice
36 + 23 =

54 + 24 =
67 + 21 =
65+ 25 =

® H A & «*

36 +47 +54 =
42 + 28 + 38 =
53 +27 +41 =
52 +62+38-=
42 + 37 + 48 =
55+32+25=

Ellie bought a skateboard for £45, a helmet for £24 and knee
pads for £19.
How much did she spend altogether?

® H V @& ¥ & 6 H V & ¥ &8 o EH V o «»
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Daniel bought roller skates for £56, a helmet for £24 and arm
pads for £21.
How much did he spend altogether?

146 + 58 + 47 =
241 + 27 + 18 =
135+ 28 + 36 =
127 + 54 + 31=

® H A & x o
6 H V @& ¥ &

Challenge
Can you find three two-digit numbers that add up to a total of 200? j

© Hamilton Trust
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Practice Sheet Answers

Addition and subtraction practice (Mild)
Possible combinations:
73p+27p=£1
73p + 23p = 96p
70p + 27p = 97p
70p + 23p = 93p
59p+41p=£€1
59p + 27p = 86p
590 + 23p=82p
41p + 27p = 68p
41p + 23p = 64p
27p + 23p = 50p

® H A & «*

Addition and subtraction practice (Hot)

36 + 23 =59
54+24-=78

67 +21 =288
65+25=90

36 +47 + 54 =137

42 + 28 + 38 =108
53+27+41=121
52+62+38=152
42 + 37 + 48 = 127
55+32+25=112
£45+£24 +£19=£88
£56 +£24 +£21=£101
146 + 58 + 47 = 251
241 + 27 + 18 = 286
135+ 28 +36=199
127 +54 + 31 =212
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A Bit Stuck?
Do the splits

Work in pairs
Things you will need:

+ A set of 10s and 1s place value cards
- A pencil

What to do:

Shuffle the 10 to 50 cards and place face
down in a pile. Shuffle the 1 to 5 cards ®
and place face down. ~ i“

Take the top card from each pile and put ® 5_5 + ilf -
N =50+20+3+4

Take the next card from each pile to make ~ = 70+7

them together to make a 2-digit number.

another 2-digit number.

One person collects the 10s.
The other person collects the 1s.
How much do you have each?
Now add your totals.

Record the addition.

How many split sums can you do before
the time is up?

S-t-r-e-t-c-h:
Include the 6 to 9 cards so that sometimes the 1s will come to more
than 10.

Learning outcomes:
+ | can add pairs of 2-digit numbers using partitioning (1s < 10, 10s < 100)
+ | am beginning to add pairs of 2-digit numbers where the 1s come to more than 10.

© Hamilton Trust
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Check your understanding:
Questions

Use a different strategy for each of these additions:
(a) 45+ 29
(b) 45 + 34
(c) 65+ 35
(d) 78 + 28
Explain why you chose a particular strategy for (a) and (c)

Complete the bar model diagrams:

?
36 37
?
57 39
?
48 24

Fold here to hide answers:

Check your understanding:

Answers
Use a different strategy for each of these additions:
(a) 45+29=74 Add 30 and subtract 1
(b) 45+ 34 =79 Add 30 then 4 or add 40 + 30, then 5 + 4, then 70+ 9
(c) 65+ 35 =100 Numbers which add to 10 or 100
(d) 78 + 28 = 106 Easiest to do as 70 + 20, then 8 + 8, then 90 + 16

Explain why you chose a particular strategy for (a) and (c)
Children may use other strategies but are they the most efficient? Encourage ways of doing each one to

avoid making errors.

Complete the bar model diagrams:

73
36 37
96
57 39
72
48 24
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Year 3: Week 1, Day 4
Written addition

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders.

Round decimals to the nearest whole, tenth and hundredth.

They come from our PowerPoint slides. — e mm e

2 2 N2 0 D30 AR OS2 6 7R 0 8 2 OB 3

2. Tackle the questions on the Practice Sheet. J—
There might be a choice of either Mild (easier) or
Hot (harder)!
Check the answers.
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3. Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?

4. Have | mastered the topic? A few questions to oty e s e
Check your understanding. o e
Fold the page to hide the answers! o o

How many times must Dan multiply 0.048 by 10 to get 48,000?

What number is one hundred times smaller than 0.4?
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Learning Reminders

Add 3-digit numbers using expanded addition.

Let’s try 528 + 333.

500 20 8 The numbers are partitioned,
+ 300 30 3 lined up in 100s, 10s and 1s and
10 a blank space left under the

second number.

Add the 1s. 8 +3 = 11.
The 1s come to more than 10
so we write 10 in the waiting
line under the 10sand 1
under the 1s in the answer
line.

800 60 1

800+60+1=861 _7

Next add the 10s...
20+30+10=?

Finally recombine 800,
60and1....

© Hamilton Trust



Learning Reminders

Add 3-digit numbers using expanded addition.

Now let’s try 362 + 483.
300 60 2

+ 400 80 3
100 Partition and line up the
numbers. Remember to leave a
800 40 5 blank space left under the

second number.

800+40+5=845
'
/\l:xtaddthe 10s..

60+80="
The 10s come to more than
100 so we write 100 in the Lastly the 100s...
waiting line under the 100s 300 +400+100="?
and 40 under the 10s in the
answer line. Finally recombine 800,
40 and 5....

© Hamilton Trust
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Practice Sheet Mild
Addition and subtraction practice

437 + 231 523 +415

400 7 500
200 400

743 + 126 545 + 427

700 500
100 400

o
|
>
®
»*
[ 2
o
|
>
®
*
®

614 + 352 353 + 216
572 +325 436 + 265

® ¥ @€ V H o & ¥ & V H o & ¥ & VvV =E o

® ¥ @& VvV H o

Challenge

Write two additions with an answer of 888.

® VvV 1m o
® VvV H o
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Practice Sheet Hot

® H A & » o 6 EH A & *x o

Addition and subtraction practice

438 + 214
549 + 235
116 + 236
239 + 344
625 + 147
378 + 414

380 + 257
472 + 384
582 + 284

. 693 + 242
. 461 + 256
. 543 + 261

® H A &

Challenge
Write two additions with the answer 321. You can't use a zero in either number!
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Practice Sheet Answers

Addition and subtraction practice (Mild)

437 + 231 = 668 523 +415=938
743 + 126 = 869 545 + 427 =972

® H A & «*

614 + 352 = 966 Challenge
353 + 216 = 569 Accept correctly laid out answers where

total is 888, e.g.
572 + 325 =897 444 + 444,350 + 538, 480 + 408,

436 + 265 = 701 738 + 150, etc.

Addition and subtraction practice (Hot)

Challenge
438 +214 =652 Accept asnswers where the totalis 321, e.g.
549 + 235 =784 198 + 123, 167 + 154, 272 + 49, etc.

116 + 236 = 352
239 + 344 =583
625+ 147 =772
378 +414 =792

380 + 257 = 637
472 + 384 = 856
582 + 284 = 866
693 + 242 =935
461 + 256 =717
543 + 261 =804
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A Bit Stuck?
More split sums

Work in pairs

Things you will need:
« A set of 100s, 10s and 1s place value cards
- A pencil

What to do:

Shuffle the 10 to 50 cards and place face
down in a pile. Shuffle the 1 to 9 cards
and place face down.

|

[ O R
=40+20+7+6
(SN0

Take the top card from each pile and put
them together to make a 2-digit number.

Take the next card from each pile to make
another 2-digit number.

One person collects the 10s.
The other person collects the 1s.
How much do you have each?
Now add your totals.

Record the addition.
Repeat at least two more times.

Play again, but this time shuffle the 10 to
Q@0 cards, and the 1 to 5 cards.

P @ @ & ¢ @ @ 8 ¢ @ @ 0 1

Repeat at least two more times.

S-t-r-e-t-c-h:
Use 10 to 920 and 1 to 9 cards so that sometimes the 1s will come
to more than 10 and the 10s will come to more than 100.

Learning outcomes:

« | can add pairs of 2-digit numbers using partitioning (1s > 10 or 10s > 100).

+ | am beginning to add pairs of 2-digit numbers where the 1s come to more than 10 the 10s come
to more than 100.
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Check your understanding:
Questions

What is the total of two hundred and sixty-eight and two hundred and eighty-six?

Write the missing numbers

643 + 174 = D
[j —356=238
327+ 258 = D
O—426=247

Amit uses 346 Lego pieces in building his model X-wing, and his sister uses 287 in building her Millennium
Falcon.
How many Lego pieces have they used altogether?

Fold here to hide answers:

Check your understanding:
Answers
For this, children should be using the expanded column method. Errors may be due to splitting numbers

wrongly, lining them up incorrectly or to making mistakes in the procedure. Talk through how they did
each calculation that they got wrong.

What is the total of two hundred and sixty-eight and two hundred and eighty-six? 554

Write the missing numbers

643 + 174 =
356 = 238

327 + 258 =
— 426 =247

Some may not recognise the second and fourth question as one to do using addition.

Amit uses 346 Lego pieces in building his model X-wing, and his sister uses 287 in building her Millennium
Falcon.
How many Lego pieces have they used altogether? 633 pieces.
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Year 3: Week 1, Day 5
More written addition

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders.

Round decimals to the nearest whole, tenth and hundredth.

They come from our PowerPoint slides. — e mm e

2 2 N2 0 D30 AR OS2 6 7R 0 8 2 OB 3

2. Tackle the questions on the Practice Sheet. J—
There might be a choice of either Mild (easier) or
Hot (harder)!
Check the answers.
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3. Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?

4. Have | mastered the topic? A few questions to et e el
Check your understanding. b
Fold the page to hide the answers! o s

How many times must Dan multiply 0.048 by 10 to get 48,0007

What number is one hundred times smaller than 0.4?
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Learning Reminders

Use expanded addition to add two 3-digit numbers.

- —

T

Now let’s try 567 + 158.

500 60 7

+ 100 50 8
700 20 S5
700+20+5=725\

Add the 1s, 10s and
100s and recombine.

This time the 1s add to more
than 10 AND the 10s add to

more than 100.
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Learning Reminders

Use expanded addition to add two 3-digit numbers.

What would be a good
estimate for 654 + 218?
Let’s go through that
using expanded addition.

When we are confident
we can try this compact
method.

600 50 4 654

+ 200 10 8 +218

10 1

800 70 2 872
‘800+70+2=872 —V 7

© Hamilton Trust



Learning Reminders

Use written addition to add two 3-digit numbers.

iTry it using either
expanded or compact >
addition.

What would be a good
estimate for 631 + 296?

Let’s check using And with compact
expanded addition. addition...
600 30 1 631
+ 200 90 6 + 296
100 1
900 20 7 927
|900+20+7=927—7 7
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Practice Sheet Mild
Addition and subtraction practice

Partition each number then use expanded addition to find the answer.

435 + 234
534 + 361
427 + 128
746 + 234
573 + 261
482 + 345
653 + 255
474 + 350
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Practice Sheet Hot
Addition and subtraction practice

Use expanded and compact column addition to work out the answers to the first two additions.
Did you get the same answer?
Now choose which layout you prefer to work out the answers to the other questions.

456 + 237 . 539+ 273
653 + 281 . 478 + 256
367 + 218 . 359 + 261
584 + 223 . 754 + 158
448+ 265 . 645 + 528
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Challenge
Write an addition of two 3-digit numbers with a total of 1000. No zeroes allowed!
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Practice Sheet Answers

Addition and subtraction practice (Mild)

435 + 234 = 669
534 + 361 =895
427 + 128 = 555
746 + 234 =980
573 + 261 =834
482 + 345 =827

653 + 255 =908
474 + 350 =824

NOURARWN—

Addition and subtraction practice (Hot)

456 + 237 = 693 : 478 + 256 =734
653 + 281 =934 : 359 + 261 =620
367 + 218 =585 : 754 + 158 =912
584 + 223 = 807 : 645 + 528 = 1173
448 + 265=713 : 539 +273 =812

® H A O

Challenge )

Accept sums which add to a total of 1000 and without zeros, e.g.
647 + 353,182 + 818

© Hamilton Trust
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A Bit Stuck?
Awesome adders

Work in pairs

Things you will need:
+ A set of 10s and 1s place value cards
+ A pencil

What to do:

Spread the 10 to 90 cards out face

up on the table.

Spread the 1 to 9 cards out face up

on the table. 5.,2 + 74

Choose a card from each group R
and put them together to make a

2-digit number.
~ 120 + 6=126

Choose another card from each
group to make another 2-digit ®» |
number. &

One person collects the 10s.
The other person collects the 1s.
How much do you have each?
Now add your totals.

Record the addition.
Repeat at least four more times.

You score 10 points for correct
answer less than 100 and 20 points
for each correct answer more
than 100.

S-t-r-e-t-c-h:
Think of two sums with an answer of 100. Both nhumbers must be made
using both a 10s card and 1s card.

Learning outcomes:

+ | can add pairs of 2-digit numbers using partitioning (1s > 10 or 10s > 100).
+ | am beginning to add pairs of 2-digit numbers where the 1s come to more than 10 and 10s come
to more than 100.
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Check your understanding:
Questions

Choose two numbers from the cards below and estimate the total.
Write this.

Then calculate and compare the actual answer with your estimate.
Repeat, choosing two different numbers.

475 386

248 349

Choose to use expanded or compact addition to add 484 to 368. Explain your choice.

Add two numbers both ending in 5 to make 810.
One digit must be ‘6".

Fold here to hide answers

Check your understanding:

Answers
Choose two numbers from the cards below and estimate the total.
Write this.
Then calculate and compare the actual answer with your estimate.
Repeat, choosing two different numbers.

The 6 possible pairs and totals are:

475+ 386 =861

475+ 349 =824

475+ 248 =723

386 + 349 =735

386 + 248 =634

349 + 248 =597

Children should be estimating before doing the sum. They estimate by rounding to the nearest 100 or
nearest 10. So estimate the first by doing 500 + 400 = 900 (answer is 861).

Choose to use expanded or compact addition to add 484 to 368. Explain your choice.
The total is 852. If children are making errors with compact addition, then look at both methods side by
side.

Add two numbers both ending in 5 to make 810.
One digit must be ‘6’. Many possible answers, e.g. 605 + 205. Check that the addition is correct and that
a 6isincluded!
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